036

zid mera: 568/246
parapet: 129 cm
kom: 4 X

037

zid mera: 364/250
parapet: 129 cm
kom: 4 X

038

zid mera: 568/250
parapet: 450 cm
kom: 4 X

039

zid mera: 568/250
parapet: 450 cm
kom: 16 X
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040

zid mera: 210/307
parapet: 0 cm
kom: 1 X
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- 5 zid mera: 70/125
3 parapet: 90 cm
T kom:2X
s
042
zid mera: 160/140
S parapet: 105 cm
= kom:2X
q{ 047
zid mera: 801/80
/ 160.0 / prapet: 360 cm
kom: 1 X
4 801.0
045
2 zid mera: 401/90
@ parapet: 105 cm
kom: 1 X
401.0 A

80.0

SHEME OKEN IN VRAT

M= 1:50




